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fEg 51 % @ 350 % (@E#H 5 % EE 5 % EHE 5 %
Fig=gzy=j =v 2
452 6 09 143 206 417 601 128 185 694 100.0
B/ NEE 21 11 390 201 1,076 554 456 235 1,943 1000
HpERERRY 39 11 682 191 1,987 555 871 243 3579 100.0
FHAZS 2R (D) 2 03 139 204 409 598 134 195 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 35 13 569 214 1495 562 561 211 2660 100.0
AR AR SRR 2 2 KER 15 09 347 202 994 577 367 213 1,723 100.0
ARTER A T K2 19 08 434 174 1,393 557 653 261 2,500 100.0
/N 69 10 1,351 196 3,882 564 1,582 230 6,883 100.0
SEL ERBIE R AEENG 2 ZEEER > BUEC IR B AR HAGTE -

52
53

TR R SRR - (R AT A FF B DL VB R S 6y -

REH Ry © Ry

=
B
2

EE NP BRIV R 2 TR G B L PEEE)

75



wHEe - & R WwE s g

58 THHREAENRENRERRENE ? C/REEEETHEZ

FEARTG e (Sie) FEFFE /Nt

e 51 % {(E#F 51 % @EEH 5 % @EE 5 % {EHE 5] %
Fig=gzy=j =v 2
452 21 30 210 302 359 517 105 151 694 100.0
B/ NEE 44 23 537 276 977 503 385 198 1,943 100.0
HpERERRY 74 21 906 253 1,821 509 779 218 3579 100.0
ERB B R (HE) 12 1.7 207 302 354 518 112 163 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 77 29 749 282 1,358 511 476 179 2660 100.0
AR AR S HEAS S 2 KER 31 1.8 508 295 878 51.0 305 17.7 1,723 100.0
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Fig=gzy=j =v 2
452 4 06 33 48 389 560 268 386 694 100.0
B/ NEE 5 03 129 6.6 1,027 528 782 403 1,943 100.0
HpERERRY 22 06 246 69 1,878 525 1433 400 3,579 100.0
FHAZS 2R (D) 1 0.2 58 84 362 529 264 385 684 100.0
Fig=giy=fe =03 Fit]
Bilia/ 2 8 K2 19 07 216 81 1456 547 970 365 2,660 100.0
AR AR SRR 2 2 KER 3 02 95 55 947 550 678 39.3 1,723 100.0
ARTER A T K2 10 04 155 62 1,252 501 1,082 433 2500 100.0
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Fig=gzy=j =v 2

452 1 0.2 10 1.5 416 599 267 384 694 100.0
B/ NEE 6 0.3 87 45 1,026 528 823 424 1,943 100.0
HpERERRY 10 03 115 32 1,855 51.8 1,600 447 3,579 100.0
FHAZS 2R (D) 0 00 19 28 378 553 287 419 684 100.0
Fig=giy=fe =03 Fit]

Bilia/ 2 8 K2 9 03 110 41 1,443 542 1,099 413 2,660 100.0
AR AR SRR 2 2 KER 5 03 56 33 944 548 718 417 1,723 100.0
ARTER A T K2 4 02 69 28 1,283 513 1,44 458 2,500 100.0
/et 17 03 236 34 3670 533 2961 430 6,883 100.0
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e 51 % @ 5 % (E#% 51 % @ 5 % {E@E 5] %
Fig=gzy=j =v 2
452 5 08 59 85 430 619 201 289 694 100.0
B/ NEE 31 16 207 107 1,177 606 528 272 1,943 100.0
HpERERRY 67 19 447 125 2,046 572 1,020 285 3579 100.0
FHAZS 2R (D) 6 09 81 118 436 637 162 236 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 51 19 329 124 1593 599 686 258 2,660 100.0
AR AR SRR 2 2 KER 25 14 180 105 1,061 616 457 265 1,723 100.0
ARTER A T K2 35 14 279 112 1423 569 763 305 2500 100.0
/N 111 16 789 115 4,077 592 1,906 27.7 6,883 100.0

ikl WWREE A ERG 2 ZaiE AR BUEC R H DS T AGHR -

aE2 ¢ BRI SRR o A Bl AL E R L R DL EAYE R S -

i3 EH ¢ TYHR B E N R E AR SRR 2 TAREERTRAYEE

79



wHEe - & R WwE s g

R 62 THMEKEARENTEREENM ? (10EEERE  GRIIASHAE
FEARFG e (Sie) FEFFE /Nt
e 51 % [E% 51 % {EE 51 % [@EH 51 % {E@#E 5] %
B RN
41 52 4 05 80 115 440 633 172 247 694 100.0
BilaN= 7 04 250 128 1,249 591 537 277 1,943 100.0
R ER Ry 22 06 449 125 2114 591 994 278 3,579 100.0
R E R (BE) 2 03 88 128 411 601 184 268 684 100.0
Fig=eiy ==y it
ST =N 12 05 364 137 1603 602 681 256 2,660 100.0
HAMEESHRZE R KE 6 03 207 120 1,062 616 449 260 1,723 100.0
HAMEEFT LIRS 17 07 298 119 1444 578 741 297 2500 100.0
/NET 35 05 89 126 4,108 59.7 1,871 272 6,883 100.0
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Fig=gzy=j =v 2
452 7 11 178 256 389 559 120 173 694 100.0
B/ NEE 16 0.8 441 227 1,078 555 407 21.0 1,943 100.0
HpERERRY 40 11 757 212 1,972 551 810 226 3,579 100.0
FHAZS 2R (D) 6 9 174 254 353 515 151 221 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 27 10 614 231 1459 548 560 21.1 2,660 100.0
AR AR SRR 2 2 KER 17 1.0 38 223 990 575 331 192 1,723 100.0
ARTER A T K2 26 10 553 221 1,333 533 588 235 2500 100.0
/N 70 10 1552 226 3,782 549 1479 215 6,883 100.0
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Fig=gzy=j =v 2
452 0 00 15 21 370 533 310 446 694 100.0
B/ NEE 3 0.2 78 40 1,043 537 818 421 1,943 1000
HpERERRY 1 03 189 53 1,958 547 1421 397 3,579 100.0
FHAZS 2R (D) 1 0.1 20 29 383 560 280 409 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 12 04 170 6.4 1466 551 1,012 38.0 2,660 100.0
AR AR SRR 2 2 KER 3 02 54 31 958 556 707 410 1,723 100.0
ARTER A T K2 0 00 76 30 1,331 532 1,094 437 2500 100.0
/N 15 0.2 300 44 3755 546 2813 409 6,883 100.0
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Fig=gzy=j =v 2
452 0 00 11 16 381 548 303 436 694 100.0
B/ NEE 1 0.1 84 43 1,029 530 829 427 1,943 100.0
HpERERRY 10 03 177 50 1,817 50.8 1574 440 3,579 100.0
FHAZS 2R (D) 1 01 30 44 367 536 286 418 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 11 04 162 6.1 1,404 528 1,083 40.7 2,660 100.0
AR AR S HEAS S 2 KER 1 01 63 37 933 541 726 421 1,723 100.0
ARTER T K2 0 00 80 32 1,255 502 1,65 466 2,500 100.0
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Fig=gzy=j =v 2

452 38 54 333 480 289 416 35 50 694 100.0
B/ NEE 205 105 1,024 527 619 319 95 49 1,943 100.0
HpERERRY 392 110 1,738 486 1,240 346 209 5.8 3,579 100.0
FHAZS 2R (D) 66 96 375 548 207 302 37 54 684 100.0
Fig=gy=fe 039 =it

Bl 2 5 K2 287 108 1,337 503 891 335 146 55 2,660 100.0

EETER B A REE 146 85 907 526 593 344 77 45 1,723 100.0
TSRS 0 A 267 107 1209 484 872 349 152 6.1 2,500 100.0
INET 700 10.2 3453 502 2,356 342 374 54 6,883 100.0
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e 51 % {(E#F 51 % @EEH 5 % @EE 5 % {EHE 5] %
Fig=gzy=j =v 2
452 0 0.0 38 55 486 699 171 246 694 100.0
B/ NEE 2 01 112 58 1236 63.6 593 305 1,943 100.0
HpERERRY 6 02 161 45 2261 632 1,152 322 3,579 100.0
FHAZS 2R (D) 0 0.0 41 59 443 648 201 293 684 1000
Fig=gy=fe 039 =it
Bl 2 5 K2 4 01 147 55 1,724 648 786 295 2660 100.0
AR AR S HEAS S 2 KER 0 0.0 85 49 1,152 669 486 282 1,723 100.0
ARTER T K2 4 02 118 47 1542 617 83 334 2,500 100.0
/N 8 0.1 350 51 4,418 642 2,107 306 6,883 100.0
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Fig=gzy=j =v 2

452 0 00 7 1.1 393 56.6 294 424 694 100.0
B/ NEE 0 0.0 49 25 955 491 939 483 1,943 100.0
HpERERRY 4 01 41 1.1 1,734 484 1,801 503 3,579 100.0
FHAZS 2R (D) 0 00 11 1.6 348 509 325 475 684 100.0
Fig=gy=fe 039 =it

Bl 2 5 K2 2 0.1 64 24 1,359 51.1 1,234 464 2,660 100.0
AR AR SRR 2 2 KER 0 00 21 12 876 509 826 479 1,723 100.0
ARTER A T K2 1 01 24 10 1,189 475 1286 514 2,500 100.0
/N 4 0.1 109 1.6 3,424 498 3346 486 6,883 100.0
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Fig=gzy=j =v 2

452 2 0.3 93 133 463 667 136 196 694 100.0
B/ NEE 4 02 216 111 1,192 613 531 273 1,943 100.0
HpERERRY 1 03 341 95 2153 601 1,075 300 3,579 100.0
FHAZS 2R (D) 1 0.2 83 121 436 637 165 240 684 100.0
Fig=gy=fe 039 =it

Bl 2 5 K2 9 04 293 110 1618 608 740 27.8 2,660 100.0
AR AR SRR 2 2 KER 6 03 195 113 1,096 636 426 247 1,723 100.0
ARTER A T K2 3 01 246 99 1519 608 732 293 2,500 100.0
/N 18 03 735 107 4,233 615 1,898 27.6 6,883 100.0
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e 51 % @ 5 % (E#% 51 % @ 5 % {E@E 5] %
Fig=gzy=j =v 2
452 74 106 431 621 161 232 28 41 694 100.0
B/ NEE 286 147 1,171 602 417 214 70 3.6 1,943 100.0
HpERERRY 550 154 2,139 598 769 215 122 3.4 3,579 100.0
FHAZS 2R (D) 82 120 418 611 163 237 22 32 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 353 133 1590 598 628 236 89 3.3 2,660 100.0
AR AR SRR 2 2 KER 233 135 1,046 607 383 222 62 3.6 1,723 100.0
ARTER A T K2 398 159 1515 606 494 198 92 37 2500 100.0
/N 984 143 4,151 603 1505 219 243 35 6,883 100.0
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Fig=gzy=j =v 2
452 77 111 403 580 181 261 33 47 694 100.0
B/ NEE 317 163 1,073 552 428 221 124 6.4 1,943 100.0
HpER R 701 196 1,895 530 816 228 167 47 3,579 100.0
ERB B R (HE) 96 141 397 580 167 244 24 35 684 100.0
Fig=gy=fe 039 =it
Bl 2 5 K2 441 166 1417 533 673 253 129 48 2,660 100.0
AR AR SRS S 2 KER 261 151 963 559 413 240 86 50 1,723 100.0
SARTER A T K2 488 195 1,379 551 500 20.0 134 54 2500 100.0
/N 1,190 173 3,758 546 1586 230 349 51 6,883 100.0
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Fig=gzy=j =v 2

452 171 246 418 60.3 91 131 15 21 694 100.0
B/ NEE 612 315 1,065 548 219 113 47 24 1,943 100.0
HpER R 1,298 363 1810 506 387 108 84 24 3579 100.0
ERB B R (HE) 221 323 371 542 79 115 13 1.9 684 1000
Fig=gy=fe 039 =it

Bl 2 5 K2 892 335 1,392 523 313 118 64 24 2,660 100.0

EETER B A REE 534 310 945 548 207 120 37 22 1,723 100.0
SR A TR A 865 346 1,319 528 259 104 57 2.3 2500 100.0
INET 2291 333 3655 531 779 113 158 2.3 6,883 100.0
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